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Waverley

St. Catherine’s School

Year 11 Mathematics

Preliminary Task #1
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Time allowed: 55 minutes
60
Total marks: 58 marks

Weighting: 15%

INSTRUCTIONS

There are'2 sections of different values.

Marks for each part of a question are indicated.

Each section is to be attempted in a separate booklet.

All necessary working should be shown.

Start each question on a new page.

Approved scientific calculators and drawing templates may be used.
Marks may be deducted for careless or badly arranged

work.

40

SECTION A ALGEBRA (38 Marks)

Question 1:

Question 2:

Question 3:

Expand and simplify the following:

i) Sa(l—a)—a(2+a)
( @ -y +y%)
Factorise the following fully:
@  2x°+128

()  ap®~aq’

@) x*—7x*-8x+56

(iv) 2x*-x-3

Simplify

i 3a-3b

i

( a—b

. 2x+2 | x%2-16
(i) x+3  x2—x—12
3 5
(iii)

x%+x-2  x%-2x-8




Question3:

@

(i)

Question 6:

)

(i)

(i)

a
S = I: evaluate » when $S=20 and a=4.8

Hs:ut+%uzﬁMSﬂw4J:5mdm%2

If 2x? + 6x = 1 find x leaving your answers
as surds in simplest form

Solve simultaneously 7a — 5b = 16 and 2a + 7b = 13

Solve simultaneously y = 6x% and y = 4 — 5x

Question 4:

®

(i)

(i)

@iv)

™

(vi)

(viii)

MARKS

Solve the following equations/ihequations

6*=% 1
2-x_3 )
2+x 4

3-4(1+2%)>9 2
W +9=5 2
[2x+1 =11 2
lx-2<5 2
le-2=2x-5 2




SECTION B (NUMBER) (20 Marks)

START A NEW BOOKLET
Question 1: (i) If the earth travels around the sun at 30Km/sec find

Question 2:

Question 3:

the distance it will travel in a day. (Write your answer
in scientific notation correct to two significant figures)

" 3 {283 .
(ii) Evaluate [— to three decimal places
T 122"

(iii) ExpressO..Zf’; as a fraction in simplest form showing full

working

(iv) If $x is increased by 24% and the answer is reduced by 20%

find the final amount as a decimal fraction of x

(i) Simplify (3v5)? leaving the answer as a surd

. 2 43
@) If b3 = D) find the value of b

(iii) Show that 7 + 443 + ﬁ is rational

(i) Evaluate logg 9 + logg 4

(ii) Calculate log,q 17 to 3 decimal places

(iif) Evaluate logs 1—18 —logs %

(iv) If log. 5 = x and log, 10 = y find in terms of x and y

@ log:50 . (blogz (o) log, 500

END OF TASK ©
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Time allowed: 55 minutes

Total marks.j .@Omarks
Weighting:  15%

~ INSTRUCTIONS

There are 2 sections of different values.

All necessary working should be shown.
Start each question on a new page.

work.

Marks for each part of a question are indicated.
Each section is to be attempted in a separate booklet.

Approved scientific calculators and drawing templates may be used.
Marks may be deducted for careless or badly arranged

S ECT‘IOI\/ 4

Qn

Solutions

Comments+Criteria

I) Sa (l"‘*) "' & (Zt“) 2

56&—“’6)“’ —2a —o. = .3(2.""(00.,

0 (x-Y 5)(»( g+\7 D = 3CIO'J i

Y 2x FI28 = 2 (5 +bn)

2 (ert) (s —Hx +16)
alp™=1")

« (pr1) (p-g)

!

H

") a,/az—- &l

"

3 2.

) o —Tx —®x +56
< ot (x-T) ;g(x—‘l) '

= 61’7) (3('1— 9)

2

) Zx —x =3

= (xx =3)0c +1)

Marks

D 3a- 34
e~ A

||)- Ix4+2

xtd x —x—1%

=2(xn) (=) (553)
3 () Certr)

= ZCJC+I>
et




Qn _ Solutions Marks Comments+Criteria
w3 _ 5 '
3 xz p’_ b s 2 L:l\ 2~ 8
- 3 s

© (a0t (e ) berd)

P’ 3(9{.«4) — S(Dcr()
) o) (e=t) ()

= - 2
(o2 ) 1) ()
S
4 DA 36 6
Jox= T2
) Z—Xx — 3
24+ a

W (o) =3

g-HX = b +3%
- Tx = ~2
>t = __7‘_'.
5

w3 — H(1e2x) > 9
L34 —%x > 9

—8x PG+l
— %x »I1D
x < - |4
- (V) \[Dcz'('_cl — 5
x? =106
w = ki Lt

Qn Solutions Marlfs Comments+Criteria
}A{’ V) (21+I|=((
Co2et (=1l et 2xelE I
2x =10 2= (2
e = 5 of z=—06 2
" |—2] <5
— 5 g2 & §
~3sx <7 2
{x"l’ = 23%~5
VN) MJC_—Q_;—-Z’XF‘S
,xz‘"a
9(.:3
Chach  poludtro {3P1I:l)(3—§ /
now Comardlal
=T T (b(_'—S)
7:’7»: ,zxd—g
3= 7
= 2%
thuek  pwboto
' 1)42‘3’5‘ "‘AL—Q__
(1;’7»( = 4
2

~3~




Solutions

n)

2

o= —

20(!-—1‘) = - €

2o0—10tT A g€

— QO+ = M-& -0

A

-+ =

U5
- 152 _0 76

—20

2

_ 4w—58 4 hx 62X (-S)

= 20 F 775

n

575

2

Marks

)

'u)

2
2% 4 bx — =0

oo At g g

La_ 4

bt _praJu | =3t

- _/ ==

e —

+ +

_76?-"51)-7-19 _____@
2a+ 74 =|?;‘-'_.—_@

™ x7

H9a -~

® x5 =>
360 212 @

j0a. +34 =65 — )

R

O awl @

59 = 177

a=3

v @

2;x3+7f&'=l3 = A=

23

Comments+Criteria

Qn

Solutions

1)

—_ -

W B do D
4-—5x = 6x

by 4 Sx ~ 4 =O

: (2x~1y =0

(33: +4) .

{
x_:'-—[’jw_?_

_~5x-15 = 0%
_\-C‘]; L(_"‘SQC = K

L= L
o = h—5x = -5x% = [z

NS D N E ALY

gl _@y=H S —@

Y

Marks

Comments+Criteria j




SECrfoV 13 :
o oo Marlfs Comments+Critéﬁa QOn Solutions Mar!fs Comments+Criteria
= 30 X 60 K60 xAH N N U =2 | ‘
| ) detena : 2 3|" Loy 9 Lyt =g, |
= 26 x (0 ko A ‘
\ 0 % 17 = (230 (3&,:.) [
3 ([
) . 3 ' '
") h;?: = g3 (34r) | [ ! L
") Te ax
} ' 3 8
3 [ . - | } ——
)\l)- 5 = O 2_.3 ' ' :/68’ ,-L‘g’ X%) - 3'7’ - /2‘ 2_/
joox = 2323 ’ ’
e = 23 , ' .
. a e 1O =
W qgx = 23 . () ) ] %C
. 10
=7 =2 2 . 50 =Ly 5+
= J2C *‘\7 » (
0 freian ot fone |2 | | b 6o o
. | R e R
3 3 > _ _ :
.)@@ =3><(\J§> ~27 x5V8 ‘ A =<7J (
L = (3545 2, 4
DY R SR T |
J3 = . 3 2

) »%cg’on :%f +—ﬁﬁioo
. » S
~ i3 ~33 1 B |
LT _

= )(,-(—ZLJ
= E =,@\E' |
. b
b=
3 ‘
- +HJ3 ‘ 7—————% SN
) Tk + 74453 x /3 _ 2 \"\
= T3 +1flj_"§,:[ Rateond | -
_7—-




